
 

Got No Blues

Louis Armstrong

q qq q q� Dq �� �
3

36
6

q qvib

� q� q�� qvib

44 �
N.C. q� q Dq

2

1 �q q
q = 143 q� q qA

�

� q
vib �q q q q3

33

q q q qvib� q q q4

� ��
A

�
q q q� q� Dq

�
vibq

q� qq �q
D

�q
�q�

A

q
3

3

3

3

vibqGqqqqq�q7

� �� q �q q� qq qq

� �
A

�
vibqq q�vibq� qq �qq q

3

3

qD
�
q�qq ��vib���

10 �
A qDqqq q�q

q qq�q q� qqqq
�q�

A

633

qqDvib	q qqqq����
14 qqq �qq�q

q� qq q q��
Dq q� q
3

3

q q� q qq q q q���
17

3 q � � �
q


qA

q�
qqq �
A

q
q
�
qvib� q q qvib

3
3

� q q q q� q q��
qvib� q�

D
20

� ��
A

q � q �� q q � q
�q q

qq qvib q
A

�
vibqqqq �q

333

D

q q
G

� q� �
qq

24

� �� q qq q�q� q qDq

q qvib

�
q �� q q q� qA

q q

	 q

3 6

q� q Dq q qq q q
28

� ��
A

� �
q

�
DGq qvib �

q

�
q

q q �q qqqq
qqq��qvib �qq � qN.C. ��vibqqq���

32 q�q qqq


